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1. Options shown in green color with a tick icon are correct

2. Chosen option on top right of the question indicates the option selected by the candidate

“BR4AQ16HI
s fw far #r ador ofF @ A

BR4AQ16HI

The mirror image of the above figure is

™ x|HE1QA4RB
“:|Ha rQAMHE
v-IHerOAMPHE
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Question ID : 9864493796
Status : Answered
Chosen Option : 3

Q.2 fou gu Fu= F W AT G T 7 F{ [ Fiel W SFY F2AT F7 Alicheh
A AT LAl B

YA

Gl gfepitet aigeh &1 $o aIgrd dIed &l

forsd:
1. el gferepicet srsad Bl
2 FS AR T §

Consider the given statements to be true and decide which of the conclusions logieally
follow(s) from the statements.

Statements:

All the helicopters are carriers. Some bikes are carriers.

Conclusions:
1. All the helicopters are bikes.
2. Some bikes are helicopters.

Ans 1 feiserdy 1 31IC 2 QT SfepaRoT d 2l

Both conclusions 1 and 2 follow.

7o ar forseany 1, 7 2 3TTEOT AT B

Neither conclusion 1 nor 2 follows.
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Question ID : 9864494317
Status : Answered
Chosen Option : 2

Telegram Channel: t.me/ssccglinfo\




www.superpathshala.com

A {2 JEOT T B
< 3.

Only conclusion 2 follows.

AT foisehy 1 37]E0T T Bl
X4

Only conclusion 1 follows.
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Q.3

Ans

IfE VI 1 AT O AFaieE g, 3 S8 FT &l ST 27

If V/I is a constant, it is called:

x1_ﬁz(-_l|ﬁﬂm

X2 fersTaTery
Potential difference
Resistance

Her
Ka

Coulomb

Question ID : 9864493266
Status : Not Answered
Chosen Option : --

Q.4

Ans

oo AT AFAT F T ITEET FEl ST FEA I 59 o FAafEH FAqH
HR AT F E I FAl B BEH F FGIS 7: 18 1| ToF AR FOH
& ITH 39CIed Fdl S HEAT H FJIS e 87

The ratio of the number of marbles that Pulak and Menaja had was 5 : 9 while the ratio of
the number of marbles that Jairam and Menaja had was 7 : 18. What is the ratio of the
number of marbles that Pulak and Jairam had?

v 110:7
K25:7
K32:3
K47:5

Question ID : 9864493006
Status : Answered
Chosen Option :1

Ans

R T # e 39gFT e o |

TF 9 TR H N WA areg FT oAt g |

Fill in the blank with the most appropriate option.

An element attains stability when it achieves state.

X1_aa—c|?~rua?3$1'a%€

an only-octet

Zw?@z

a heptate
el Ueh Eoolc
K3 2
an only-duplet
T Foolc AT e
4.

a duplet or octet

x

v

Question ID : 9864493474
Status : Not Answered

Chosen Option : --

TF IEG W qF T F aaeig o G w9 oo gew afy swer
e @

‘Work done by an object on application of a force would be zero if the displacement of the
object is:

| e

' positive
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Question ID : 9864493522
Status : Answered
Chosen Option : 2
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L2810

FUMMcHS
‘ negative
X4 ;

neutral

K3
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Q7 v I5g, T oufa & a7t 2, 4 Fiiey ofa =9 o & R o &
TN ST & | 8 WekE & o1, TEHRT 1T Freer g

An object, starting from rest, moves with constant acceleration of
4 m/s?. After 8 s, its speed is:

Ans v 32 i dFs
32 m/s
4 #eT ufy &
4 m/s
8 #rey gfy Thz
8m/s
16 Hrer 9fy A

16 m/'s

X2

X 3.

X4

Question ID : 9864493219
Status : Answered
Chosen Option :1

Q.8 ww wHEGHS & & e 24 m® AT 5% vE et i dEe 8 m gl FEES
F el =T B oA Fhar g@eh?

The area of a rhombus is 24 m? and the length of one of its diagonals is 8 m. The length of
each side of the thombus will be:

Ans x1_ fm
X24m
/< 310m
Vv 45m

Question ID : 9864492934
Status : Not Answered
Chosen Option : --

9% 1 f@dsT 2020 F Hi=ar &7 gem?

What day would it be on 1 September 20207

Ans IHAN
X7
Thursday

HITeldR
Tuesday
Pehall

W2

< 3.
Friday
gUdR

-2

| Wednesday

K4

Question ID : 9864492893
Status : Answered
Chosen Option : 2

Q.10
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Question ID : 9864494206
Status : Answered
Chosen Option : 3
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&1 I A@enn A I A H ThA H)

@ § 4
a b c d
Select the odd figure one out the given series.

o
L
wE {0
a b c d

Ans 1 g

X 2b

K 3a

X4

Q.1 Ao Nas =1 Faa & 3% 9 5c9+ giar &, o T & AT O &
o FaT R

Question ID : 9864493089

) Status : Not Answered
Burning Magnesium ribbon produces white ash, which dissolves in water to form

g, R e
Magnesium Hydroxide

X HeATRraa sirass
Magnesium Oxide

, HeAferaT goesy
Magnesium Halides

, HTATRH Hethe

Magnesium Sulphate

Chosen Option : --

x

x

x

Q.12 sing & Aew FEET AEd #i 8, T Sl 2018 A s FEeR

TrgoT faam &7
‘Who is the Chief Election Commissioner of India who took charge in January 20187

Ans x GIAVIA =
1.

Subramanian Swamy
TETH Al
| Raghuram Rajan
WSS FAR
) Ranjit Kumar
v AT Jehrer Tad
Om Prakash Rawat

Question ID : 9864492304
Status : Answered
Chosen Option : 4

K2

x

|Q.13 ( ]
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Question ID : 9864493821
Status : Answered

www.superpathshala.com

fev 7w g ¥ vw ampfa g

QS|P |&

A B C D
Select the figure which does NOT belong to the group.

RS\ B|&

A B C D
Ans X1C
V2D
X3 A
X 4+B

Q142017 # v s ‘SFAICH 33T & oG@® il 87
‘Who wrote the book “Immortal India® published in 20177
Ans 3rTer Farér
F !
Amish Tripathi
X2 T ds
Vikram Seth
v Ifaeg, HEET
Aravind Adiga
x4 AT AT
Chetan Bhagat

Chosen Option :2

Question ID : 9864492373
Status : Answered
Chosen Option :1

Q.15 gf el 6x -5y + 11 = 0 S 15x + ky-9 = O FT wE g A @ AT k
T AT faar 272

If the equations 6x - 5y + 11 = 0and 15x + ky - 9 = 0 have no solution, then the
value of k is:

Ans 1. -125
<218
<3 -18
<4125

1 el gem F e ROt gl
The number of diagonals in a decagon is:
Ans « 1. 35
K225

<320
X 410

Question ID : 9864492936
Status : Not Answered
Chosen Option : --

Question ID : 9864492675
Status : Answered

Chosen Option :2
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Question ID
Status

19864493064
:Answered
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T yfaeaf 3 BeE F A T AT B TR e S e sz ms 1 }, S EE S l Chosen Option : 1 J
R TAg Hr gdr et 32

An echo is returned in 3 s. What is the distance of the reflecting surface from the source,
considering the speed of sound as 342 ms™*?

Ans X 1 171 Hex
171 m
342 HeT
342 m
513 #HIeT
513 m
644 HIET

644 m

Q18 Pafoaf@a & & #ia @1 e & 9T S JTe gHte A6t 87 Question D : 9864493376

Which of the following is not a hormone found in animals? Status : Answered

Ans d Chosen Option : 2
x 1 T

Insulin
Adrenaline

x5 ARRTFEA
Thyroxin
Elicacy

Auxins

X2

v 3

< 4

W 4

Q.19 & 71w Fuer W AR & 3k oo & & § 712 Awgant 7 § 3989 ST @

ffa ¥ @) Question ID : 9864494195

Status : Answered
Chosen Option :1

FYA:
RETERATRTS AR 7 deRicns yafca:lt & faFRr & Fror §

e

HIe T

1. FHAMER 94 @FRICHES TGe3il $1 ol A Teel AbRIcHT Tea3il #i
IANR Fd gl
2. SAFRICHS Ygel3ll T <Al HHRICHF Tgal3il 1 defell # sga s 1

Consider the given statement and decide which of the given assumptions is (are) implicit.

Statement:

The serials/soaps are a reason for developing negative tendencies in women.

Assumptions:
I: Newspapers highlight the negative aspects first than the positive aspects.
II: The attention for negative aspects 1s much higher than positive aspects.

Ans x113ﬂ¢2aﬁﬁiﬁ1ﬁaa€rﬁl

Neither assumption I nor I 1s implicit.

, sharel Hdr 1 fHRd gl
. Only assumption I 1s implicit.

1 3 2 et Rfga g
K3

" Both assumptions I and IT are implicit.

x
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4%|aﬂmmm2ﬁ1%ﬁ%l

v
Only assumption II is unplicit.
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Q.20 X fEvor i sive afe e g, o o g B e 9 225° apmen® skt R By gE
& R 90° T HE T §1 319 X & T i e &2

Facing South, X turns 2252 clockwise and then 90° anti-clockwise. What direction is X
facing now?

Ans
X1.aﬁm‘ q‘\é-

South-East

3o 99
2. o~

North-East

x

Question ID : 9864494387
Status : Answered
Chosen Option : 4

Q.21 @ 3 3 & FI9-3r a7 39 |t & F gear § S e &
AT FasE Told § HT G S e g o Qe 2

Kabaddi

P Q R

s T u

Foothall | ¥

Cricket

Kabaddi - #a3r
Football - Feaer
Cricket - fhe

In the following Venn diagram which letters represents all those who play Cricket as well
as Kabaddi and also all the three games?

Kabaddi

P Q R

5 T u

Foothall | ¥

Ans 1.8 +
vos+T
X35 +R
K4S +V

Question ID : 9864493871
Status : Answered
Chosen Option :2

Q.22

Question ID : 9864494177
Status : Not Answered
Chosen Option : --
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Sales of Bikes in India as per the Colour in
2009

Green- &1

Golden- =gl

Brown- sfir
Black- Teir

Silver- et
White- @ihe

Red- @rer

Yellow- 9Tl
afg 2009 # &= 7§ AreT-wElRel F¥ F& FEA 6,000 o, & fFw
M HHE F FAEAE, R G A Ae-Estat # aAs T §
ST T 9r?

Sales of Bikes in India as per the Colourin
2009
2%
s
20%
0%
15%
g 10% 10%
10% 8% %
i ]
. I |
Blue Green Golden Brown Black silver White Red Yellow

If the total number of bikes sold in 2009 was 6000,
then according to the given data, bikes of which
colours were sold equally?

Ans x1_

der 3R g T Fr e Ty HR =T fr
Yellow and green put together and golden

X 2

=a AR g T H v\ AR geEed o
Silver and green put together and golden

< 3.
ek 3T gY TT FT v wr A geEedr T
Blue and green put together and golden

v 2

g0 F F T v Ty HR g I R
Brown and black put together and green

a2 45 30 3T 35 &1 o.1. o=t g7 Question ID : 9864493003
The LCM of the three numbers 45, 30 and 35 1s: Chosen (S)ZTZ: j:‘"swered
Ans X' 1.180
#< 2.840
v 3630
#4420

Q.24
Question ID : 9864493887

Status : Answered
Chosen Option : 2
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3H 3G & T97 H S TAg § FAOT 7@ ¢

SIS

A B C D
Select the figure which does NOT belong to the group:

SIS

A B C D
Ans ?(1-(3
X 2B
v'3D
XA
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Q.25 5kg T #r T TEY F 4m F FAE T SEAT AN g1 FH TG T T
3T TECATHITT & & T AT fehal §RT? (AT o g =10 m/s? )

A 5 kg object is raised through a height of 4 m. The work done by the force of gravity
acting on the object is (take g = 10 m/s?):

Ans —200 ST
&) ®

—2007T

—20 ST
x2 "
—207

200 el
o,

2007
205

X 3.

< 4
2017

Question ID : 9864493282
Status : Answered
Chosen Option : 3

Q.26 arEEy-Sr-aTAT # UHE & TR § ARd # TgeN FEH TG Frer guA
I

Vasco-Da-Gama became the first Furopean to set foot in India via the sea in

Ans 511489
X 21488
X< 31499
v 41498

Question ID : 9864492109
Status : Answered

Chosen Option : 4

Q.27 =i feu AW el I HE AT §U TF A0 Y o hue F A & Tt
FT THTIT T F e a7 T &l

YT
e T FEEEET & B

forsa:

1. farg F e off Sor F AoErdr e A6

2. fagd & F= 3 ¢t & TARIadr O gl
Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statement:
China is a commutist country.

Conclusions:
1. No country in the world has a communist rule.
2. Many other countries in the world have a commumst rule.

Ans

FB Group: SSC Railway GK Aptitude

Question ID : 9864493668
Status : Answered

Chosen Option :1
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hracl oIy 2 &1 9T g @T &

Only conclusion 2 follows

23@6[%@@1 T grel g1 18T &
Only conclusion 1 follows

3_u‘rra’H HTTAE 2 F1 e g T &
Neither 1 nor 2 follows

L] 3T 2 &t &1 urel & W §

Both 1 and 2 follow

Q28 25l i o Fersnforg st W Fam 9o EﬂT-IT %" Question ID : 9864492602

Status : Answered

25 divided b}’i Chosen Option : 2

Ans 1

X1.ﬁ

X 25
V3125
X< 425

Q.29 7fy & & Aplat F T Tede F HeAel T AL T T AT THE 71 Tbeh
taramE &

F !

x

v

x

Question ID : 9864494054
Status : Not Answered
Chosen Option : --

*xe0

If three groups could be formed using the given figures only once, these groups would be

B AG DX
=48

Ans 1 (1,5,6), (3,4,7) 3T (2,9,8)
(1,5.6), (3,4,7) and (2.,9.8)

v (198), (247) AN (3,5,8)
(1,9,6), (2,4,7) and (3,5.8)

L (1,9.6), (257) 3R (3,4,8)
(1,9,6), (2,5,7) and (3.4.8)

x o (1:98), (2438) AN (3,5,7)
(1,9.6). (2.4.8) and (3,5.7)

x

04 4 (1/6)[(~10x (25 — 13 — 3)} =+ (=5)]=7? Question ID : 9864492499
. _ Status : Answered
4 + (1/6) [{—10x (25 — 13 — 3)} = (—5)]=? Srosen omten

Ans x1_ 6
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V27
<39
K48

O3 Ffeaa S 1 AEE FElT AIHE e g 37 Question ID : 9864493627
What is the standard room temperature in Kelvin? Status : Answered
Ans X 1.198 K Chosen Option : 3
V298 K
<3373 K
X 4273 K

Q.32 TR a7 TS & 0T Sfceafer @t e § 310w TN G o FheT B

Echoes may be heard more than once due to successive or multiple:

Question ID : 9864493563
Status : Answered

Ans x 1 ﬁm;r Chosen Option : 4

Rarefactions
2 EEGCH

Diffractions
X3 319 |Ei I

Refractions
v T

Reflections

QB FH A fimTasiamT I T FoamET SR gt o= F

AT F HA T4 & ST & GO § A T HT T S H AT F4q L7 Question ID : 9864492674

. . Status : Answered
The sum of the lengths of the edges of a cube is equal to the perimeter of a square. If the

numerical value of the volume of the cube is equal to the numerical value of the area of Chosen Option : 1
the square, then the length of one side of the square is:

Ans
v 27 SIS
27 units
x . 0%
30 units
0 THTE
0 units
12 3T

12 units

K 3.

Q.34
Question ID : 9864493675

Status : Not Answered

Chosen Option : --
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AN AE IS 4 F OE & THACT Bl F WAA DT BA 81 FET H For oA

#r TEar e 87
16
" W Number of students
12
10
8
6
4
2
o
wsq\?- o(boq? G’QO:‘ ‘fg? y BQQ\@
¢

The bar graph represents the favorite fruits of Grade 4 students.
What is the total number of students in the class?

M Number of students

Q.35 fraw 77 @ &7 ¢ 3eT A & T, B & WA 27

Question ID : 9864493273
Who first discovered that every eighth element had properties similar to that of the first?

Status : Answered

Ans x 1 ma- Chosen Option :1
Mendeleev
Hister
X2
Moseley
< 3 STalie
Dobereiner
elE
v IR
Newlands
.36 + :
Q36 e & i F FTAE S TITAE BT F I Question ID : 9864493118
The group of crop plants that are vegetatively propagated is: Status : Answered
Chosen Option : 3
Ans o1, 37T AT Fwelr

v
sugarcane, potato and banana

HITH, TE=ted 3T I
2

groundnut, drumstick and cashew nut
| 3oL, T 3 St

potato, papaya and banana

x

x
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onion, coriander and lime

X 4
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Q.37 3Hferdeted & e B el T HEeT SSHFADS Scde &ld THAT HisT °F
FRfEm aftm e 2

Which type of reaction occurs when carbon burns in oxygen to give carbon dioxide?

Ans xtmy‘mﬁ:m

Decomposition reaction
X2 AeTcAs ATATHar
Addition reaction
X3 g AR
Substitution reaction

g7 rtatEar

Combustion reaction

W 4

Question ID : 9864493052
Status : Answered
Chosen Option :1

Q.38 7 & v g ¥ Fome gemm sk frewr @t e ¥ gemee 3k e @
T #| 30 TF $ Tog W TNl & FHROT F 0 g WA nI Y |0
F AT Toraar grem:

Consider a planet whose mass and radius are both twice the mass and radius of Earth. The
acceleration due to gravity on the surface of the planet is n times that on Earth. The value of
nis:

Ans x1_2
X 24
X3

1
v g
2

Question ID : 9864493220
Status : Answered
Chosen Option : 4

Q.39 Rw 7w Wt 1 eOES T8 HY A & 5w 3o & F e SemfefEe
FoEr F & FF g T
T T T T H ARl T WA T aTAGT 3eThr i W R gl 7

YT
1. g T Rewr & s &
2. FAAR T= FTHA H 0T TEAT Ao B §

Consider the given question and decide which of the following statements is sufficient to
answer the question.

Does the children’s ability to grasp ideas in school depend on their intelligence?
Statements:

1. Intelligence is unaffected by bad teaching
2. Poor children do not perform well in the school

Ans ‘,1.
FIT FUA 2 TITCT § A% FIT FAT 1 JTAT &

Statement 2 alone is sufficient while statement 1 alone is insufficient
X2
Feel FUT 1 AT § FAa(F FaoT FUT 2 IHGAT &

Statement 1 alone is sufficient while statement 2 alone is insufficient

Xa.m1 3T Fue 2 g gareg §
Both 1 and 2 are sufficient
4mm13ﬂtm€rm2qﬁﬁ¥r%

Neither 1 nor 2 is sufficient

x

Question ID : 9864493802
Status : Answered
Chosen Option : 4

Q.40 [
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Question ID : 9864493108 ]
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T TeT A’ 3T B® F7 o fawama 1s2, 262 2p°, 35t 3T 182, 252 2p6, 32 3p*, &,
A ST Aeall o HATA gaRT AT e &1 g Far grme

If the electronic configuration of elements A* and B* are 1s?, 252 2p®, 3s* and 1s?, 2s?
2pS, 352 3p*,, respectively, then the formula of the compound formed by the combination
of these elements will be:

< 1. AB,
v 2 A,B
< 3. AB,
X 4 AB

Www.facebook.com/superpathshalaﬂ

Status : Answered
Chosen Option : 4

Question ID : 9864492701
Status : Answered
Chosen Option : 3

Q.42 AT U Fi A1 TS I & G110 7 33T & ¥ J 39417 faar

Ans

ST g
‘Which of the following is used as a catalyst in the hydrogenation of vegetable 0il?

H
F ! :
H;

Pb
He

oy

Question ID : 9864493571
Status : Answered
Chosen Option : 1

Q.43

Ans

2016 T ol HIAE FA o Fer ssar e AmRRE AT w w
srenfya &2

The 2016 black comedy crime thriller “Udta Punjab’ is loosely based on which of the
following?

1 9T H 9T SH
Child labour in Punjab
oaTT H 'a’l{ & Scaree
Wheat harvest in Punjab
| O # aefer were @ geaanT
v &)
Drug abuse in Punjab
, oo H T gaEET
Partition problems in Punjab

K2

Question ID : 9864492222
Status : Answered
Chosen Option : 3

Q.44

FB Group:
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Question ID : 9864493767
Status : Answered
Chosen Option : 1
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A T FoE G A §U T8 VT wRC o sw M w9 & Fia @ Sewd e |
T §1
FYA:
B Goeat e A8 & | Fo et 9f #1 Wi 9 @R 5
e
1. @l Fod R
2, W R E
3. %o PR fEel §
4. 5 G Fool T4 &

Consider the given statement as true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statement:
No dog is a cat. Some cats are rats, All rats are pigs.
Conclusions:

1. All dogs are rats
2. All pigs are rats

3. Some pigs are cats
4. No pig is a dog

Ans v Faer frshy 3 TTEIT FAT §
1.

Only conclusion 3 follows
e forswd 1 3R 2 sigeor e #
| Only conclusion 1 and 2 follows
e forserd 1 3R 3 spepeor e ¥
| Only conclusion 1 and 3 follows

433?%@&434@?@%%

Only conclusion 4 follows

x

x

x

Q.45 F=7 Tag T F v Faw Al ws § F 9w F1 3EeT HEe
% I H| 50 IFR IR v aw &7 wg 7§

OREE]

1 2

AN DI

5 6 7

Question ID : 9864493890
Status : Not Answered
Chosen Option : --

Use each of the following figures only once to form three groups. The three groups thus
formed are:

S

1 2

AP

Ans o 1.(1,3), (2,5,4), (6,7)
< 2(1,7), (2,5,4), (6,3)
< 3(73), (2,54), (6,1)
X 4(1,3), (2,6,4), (5,7)

Q.46 2017 Fr AT ThAr HiaT o a7 F S 0, Sws wEaa s=eE, T § .
Question ID : 9864492229

smafaa far e

‘Which team won the 2017 Santosh Trophy, the final of which was held in Bambolim, Status : Answered

Goa. Chosen Option : 3
Ans -

v qiegH §9e
West Bengal
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aMrar

Goa

e
Kerala

x , daaE

Services

X2

K3
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Q.47 ofg rdt gfiem & TFe 8 & o7 34% 3iF U FT 3aeTsdr o ar 40 F
T ey aft & 3mEedsar g

If one needs to score 34% to pass a test, the pass marks out of 40 would be:

Ans of1.13.6
<2142
<3146
x413.2

Question ID
Status
Chosen Option

19864492886
: Answered
1

Q.48 sl SeFasT & FoA (FFER 2018 IER) 37 WA HeT &2
‘Who is the current (as of February 2018) Deputy Speaker of the Indian Lok Sabha?

Ans x 1 Y. HcOsTAT
Y Sathyabhama
, AT THGTH
Anbumani Ramadoss
v TH. ufges
M Thambidurai
&. JTIATHA
4. =

x

X

K Parasuraman

Question ID
Status

Chosen Option :

19864492327
:Not Answered

Q49 wF TFfaF FEm F T 5, 6, 7 W & W wfom rr s O wAw
AFer # 4 A9 T=ar &1 00 @ gt & ¥ e ol g siadr 87

A natural number, when divided by 5, 6, 7 or &, leaves a remainder of 4 in each case.
What is the smallest of all such numbers?

Ans X 1214
V2 844
X 3 424
X 41264

Question ID
Status
Chosen Option

19864492862
: Answered
12

Q.50 s 7 & 3RS F g & F gwshar Remw FEfer & areusy
& w7 # e & mr &2

‘Which American of Indian descent has recently been appointed as the President of the
US-India Business Council?

Ans e
xi o
Prith Banerjee
| Torerr 2@ formmer
Nisha Desai Biswal

354‘|:|Tm?~|ﬂ“

Nina Davuluri

v

x

FB Group: SSC Railway GK Aptitude

Question ID
Status
Chosen Option

19864492215
: Answered
13
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x4.3ﬂ-’|’ma‘rsr
Asim Ghosh
Q.51 zizw 14fHe, 2137 2 sfF=w & 2.5 7T 3OF Fuw §1 @Y 1 9ER F 12 . ]
sfEE B A F 10 R F 9 T w1 5E o e | F 4 Question ID : 9864493030
TET 2 % 15 S 90 = F e Shaw e & gaw sende Status : Answered

Type 1 workers are 2.5 times as efficient as Type 2 workers. Twelve Type 1 workers can Clhigsist Dpifer o

complete a task in 10 days. How many days would it have taken 4 Type 1 and 15 Type 2
workers to do the same work?

Ans x1_10
<213
V311
<412

@32 O r T gEart # ¥ Si O g Fﬂ&'_rl' a'? Question ID : 9864493005

Status : Not Answered

Which of the following numbers is composite?
Ans 1. B7
v 2 47
X 357
x 437

Chosen Option : --

Q.53 gra frg ¥ FuaT & o1y e SRR geue or arefedy s arer .
Question ID : 9864492408
Ogell &2T &ef 1T &7

India became the first country to partner with which global company on Disaster Response Status : Answered
Management? Chosen Option : 2

Ans W"
r 0
Microsoft
EIEIE)
X2 ©
Google
X3 =
Twitter
v FEgF
Facebook

Q.54 Fza=r =T AN $r & o &
# ﬁ;ﬂ + T R R S Question ID : 9864494490

The Magdalena River is one of the largest rivers basins of South America. Through which Sl L R
country does it flow? Chosen Option : --

Ans x1m

Chile

Columbia

Q.55
Question ID : 9864495069

Status : Not Answered
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Chosen Option : -- J

& & fow waeg F

50 faeanfat #r Fem & frae skt & 7o F 80% & 3O 3w wea
B 7

q=g:

1. aiftg & & I et & 80% & 30w 3w W B R

2. FET F UH-Tage oy & 7ifta 7 80% & HAfeeF 3w gred fmam 2

Read the following question and decide which of the given statements is/are sufficient.
In a class of 50 students, how many girls scored above 80% in Maths?

Statements:
1. Exactly four boys scored above 80% in Maths.
2. One-third of the class scored above 80% in Maths.

F !
U9 FT 3ca¥ &7 & forw o1 Aew 1 38t o1 BeeT 2 woeT &

Either 1 or 2 is sufficient to answer the question.

X2
99T F 3o 3o & T fFesew 1 31t 2 =t gaea g1

Both 1 and 2 together are sufficient to answer the question.

< 3.
9o T 3cc &7 & [T Fad faFeT 2 AT &, F9i% HEd e 1 T
@ &
2 alone is sufficient while 1 alone is not sufficient to answer the question.

v 2
9o & 3cal & & [AT Fael faFeT 1 qaea &, S=fd Fao fAesy 2 gaea
& ¥

1 alone is sufficient while 2 alone is not sufficient to answer the question.

Q.56 rAf@a woa # 92 3R Fofa = & e & @ #i7 aud a5

e §E1

WA T WA THS. B F& 10 T IFeclvl St B TEHAT qF S AMew

Question ID : 9864494144
Status : Not Answered
Chosen Option : --

?

ah 1 3== e & Bw | feaas west & e e A e aw
gt weafF FEcaor B #
a& 2. Reamdt Ft g 3 AT F enT FE R e

Read the following question and decide which of the given arguments is/are strong.
Question: Should CBSE introduce the retention system till Class 10?

Argument 1: The foundations laid in lower classes are important for higher education.
Argument 2: It is boring for a student to repeat the same class again.

x1.F|#1 3R 2 = v
Both arguments 1 and 2 are strong.
 AAras 1 AR @ 2w g
Neither argument 1 nor 2 is strong.
X ¥ IF 2 & T B
Only argument 2 is strong.
| e T 1 & AR
Only argument 1 is strong.

x

x

v

Q.57 2 1 3 1
'-'JI"I%{[I +a—2—3E:|'F|'Tﬂ -I-; ¢

I
N

Question ID : 9864492896
Status : Answered
Chosen Option : 4

1
Ifa®? + = = 3.thena® + i =9
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Ans x 1. 3VI'§
X 2343
'3 245
X 4 2\,@
Q.58 v & 1 e Tt & AT § U THIA TaTE W SN A 2| I ww & S 0

T T A § A & 1 s H I 1 FHY AT 8, TN 310kt vy TR
T & 10 F oA &1 g S et TRt 3T 5 U Sl & s e Ee

www.facebook.com/superpathshalaﬂ

Question ID : 9864492532
Status : Not Answered
Chosen Option : --

T 319eT 4 T el e & TR o egar | Teeh S o R srmemm wEw

A sump is filled by three tankers with uniform flow. The first two tankers operating
simultaneously fill the sump in the same time during which the sump is filled by the third
tanker alone. The second tanker fills the sump 5 hours faster than the first tanker and 4
hours slower than the third tanker. The time required by the first tanker is:

Ans 16 T

Q.59 ve GFAGH AT G BT 20% T aHT 31 25% A Ao AT 81 IHITG F
mWﬁTmﬁquwwﬁm? 600 g7

A shopkeeper allows a discount of 20% to his customers and still gains 25%. Find the
Marked price of an article which costs T 600 to the shopkeeper.

Ans  of 1. T 937.50

Question ID
Status
Chosen Option

198644924388
: Answered
14

X 271,000
X 37037
X 4 T 930
Q.60 ik A 44 _ a - o
I sin* A —cos*A =1 8, @ £ A= Bl A Fardem (0 < 4 < 90°) e [5G Rres
If sin* A — cos*A = 1 then :;inDegrees is (0 < A < 90°) Status : Not Answered

Ans ( 1. 45
< 230
< 3. 60
X 440

Chosen Option :

Q.61 sfEa sit fig afo-ae &1 7ome 3 ofee s &1 qoma, Rg @ o
T AT AT Fm T A & ?

Amit and Ritu are a couple. Mrinal and Shonal are brothers. Mrinal is the brother of Ritu.
How is Shonal related to Amit?

Ans x| S FE E Har ars

Uncle
, TR SIS/ HAT ATE
Cousin

| e she e &= e/ TEAS

Brother-in-law

x

v

FB Group: SSC Railway GK Aptitude

Question ID
Status
Chosen Option

19864494291
: Answered
13
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X4.m—é

Brother

Www.facebook.com/superpathshalaﬂ

Q.62 537 Fr faweT # I A PEATATET STAT F QT HLET:

21, 55, 19, 50, 17, 45, ?

Choose the correct alternative which will complete the following series:

21, 55, 19, 50, 17, 45, 2

Ans X114
V215
X313
X412

Question ID : 9864493648
Status : Answered
Chosen Option : 2

Q.63 A, B Fr gomT A ST St G FH FEFATE | A R C v T, B R ge A e
T AT A FE T FHS | T A, B 3N ¢ e v F 30 Byt F mATT B
Heha &, it 318t & Tiieh Y 98 T e A fhae e R

A can work twice as fast as B. A and C together can work three times as fast as B. If A, B
and C complete a job in 30 days working together, in how many days can each of them
complete the work.

Ans X 1.40,80,100
X 2.50,100,120
W 3 60,120,120
< 4.60,100,80

Question ID : 9864492529
Status : Answered
Chosen Option : 1

Q.64 Frg wfekrer R, 9fAus # U Hic [891C @ ¢l I gfedes & feEar
V& 7T & oo o Regd s g g o #

A source maintains a current I in a resistor of resistance R. If V is the potential difference
across the resistor, the electrical energy dissipated in the resistor in time t is givenby ___ .

Ans X1 p2]t
vVt
Pl 0
X 4 IR?t

Question ID : 9864493305
Status : Not Answered
Chosen Option : --

6 Rl smen # & auieyd 3R & 9497 H

U, o, 17, A

Select the letter missing from the following series.

U0, L2A
Ans X1Q
V2 E
X3D
X 4P

Question ID : 9864493964
Status : Answered
Chosen Option :2

Q.66 siiEgferam & T @y & 2018 & Toeel gU TSgHS Well H1 Hawarelt H?

Which city in Australia is hosted the 2018 Commonwealth Games?

Ans ofeers

Ko

Question ID : 9864492210
Status : Not Answered
Chosen Option : --

Adelaide
qay
Perth

<2
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V> Teg FIET
Gold Coast

X4.m

Hobart
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Q.67 gfér o el 3ggnT & 5 FgeT % AT T 6000 R 3467 F 6 T F fore T
5000 fovdrer B @mer A ST T AT A Ae?

Surbhi invested ¥ 6000 for 5 months and Urba invested ¥ 5000 for 6 months in a venture.

The ratio in which they will share the profits is:
Ans X' 1.6:5

V211

X35:6

X 4.36:25

Question ID : 9864492785
Status : Answered
Chosen Option : 2

E
i
3
g

T el TH T ITAET F i HHE ST ¢ o ¥ wEg

Q910
T
ki

If three groups could be formed using the given figures only once, these groups would be

s

Ans 1 (9,3,6), (2,5,7) 3T (1,4,8)
(9.3.6), (2.5.7) and (1.4.8)

o, 838), 247) AN (1,5,9)
(8,3.6). (2.4.7) and (1,5.9)

L (93.7), (24.8) 3R (1,5,8)
(9.3.7), (2.4.6) and (1,5.8)

v 038, 247) 3 (1,5,8)
(9,3,6), (2,4.7) and (1,5.8)

x

Question ID : 9864494005
Status : Not Answered

Chosen Option : --

O ffaf@a & ¥ Hia @7 a[uT TR FT AGT & 2

Which of the following is NOT a property of bases?

Ans x1_
3 set & wry faf aa ¥ e 5w Rga e ¥

They react with acids and neutralise them
3eTeRT TTE, HEaT 21T &
They have bitter taste
3
I Rerr o m A REdT s ¥
They turn blue litmus red
X 4

X2

FB Group: SSC Railway GK Aptitude

Question ID : 9864493210
Status : Answered
Chosen Option : 1
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3 arer foreaw &t Her FT A sRafda = §
They turn red litmus blue

www.facebook.com/superpathshalaﬂ

Q.70 frfaf@a s@en #, wed e (?) Sa @M M 3R seufed & kT
T faeUl W IR 3R H WA |

ILLLOR,?

In the following series, one letter is missing as shown by the question mark (?). Select the
missing letter from the given options.

LL.O.R.?

Ans X1V
X2 X
X oW
vy

Question ID : 9864494172
Status : Answered
Chosen Option : 4

AN o 71T fSeedt # O HaTOT Uqeg @ 99T FUT
g gfagm @ ?

Select the related word from the alternatives.
Nation : History : : Man:  ?
Ans GﬁEE-ﬂ'
v )
Biography

K ™
Geography

I9ATH
Novel

X4

Question ID : 9864493783
Status : Answered
Chosen Option : 1

Q72 IET-STYAUS FH g T@T °T Fifeh:

The primitive atmosphere was reducing because:

Ans - 3TerTTeT qTATY] 37 o

Oxygen atoms were more

2
ETSSISTeT SATY] Hishd o 3 3170 Fear 7 9

Hydrogen atoms were active and in greater numbers
TS EISTel IATY] e |
Nitrogen atoms were more
. FTSgI=Tel AT FT &1 F|

Hydrogen atoms were few

< 3.

Question ID : 9864493157
Status : Not Answered
Chosen Option : --

Q.73

FB Group: SSC Railway GK Aptitude

Question ID : 9864493903
Status : Answered
Chosen Option :1
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g T UF ARET T & o & RUe o aif¥e 397 F geiar 21 I e
& 3971 6000 & ¢ o I F dgER = g

Sugar - 2EFRT Wheat - ﬂﬁ Rice - =maer Others - 30

The pie chart represents the annual yield in tons of a certain place. If the yield of sugar is
6000 tons then the yield of wheat will be tons.

Ans  of 1. 7500
X 2.7200
X 37000
X 46800

Www.facebook.com/superpathshalaﬂ

Q74 T T FERT SR F HUR R YT e I

e |

ﬂ:aih?r - -2

Select the missing term based on the given related pair.

X 4

Woman

Question ID : 9864494255
Status : Answered
Chosen Option :1

Q75 Tafaf@a # & Fia 71 A3t #1 #aH 37 T 87
Which of the following is the largest group of animals?

Ans 3mﬁtngr
v j
Arthropoda

FB Group: SSC Railway GK Aptitude

Question ID : 9864493535
Status : Answered
Chosen Option :1
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